



सैन्ट्रल रेलसाइड वेअरहाउस कम्पनी लिमिटेड  
(भारत सरकार का उद्यम)  
आईएसओ 9001:2008 प्रमाणित कम्पनी  
**CENTRAL RAILSIDE WAREHOUSE COMPANY LIMITED**  
(A Govt. of India Enterprise)  
An ISO 9001:2008 Certified Company  
सीआईएन : यू63023डीएल2007पीएलसी165676  
CIN:U63023DL2007PLC165676



No. CRWC/V-RWC, Dankuni /16-17/6275

Date: 27.05.2016

### NOTICE INVITING QUOTATION

Percentage rate quotations are invited from the interested contractors for **Office block painting and maintenance works at RWC, Dankuni** as per schedule of quantities, terms and conditions enclosed.

The quotations form alongwith schedule of quantities can be downloaded from websites [www.cewacor.nic.in](http://www.cewacor.nic.in), [www.tenderhome.com](http://www.tenderhome.com). and [www.crwc.in](http://www.crwc.in) up to **14.06.2016 at 3:00 p.m.**

The duly filled in Quotations in sealed cover and EMD of **Rs. 890/-** in the form of DD/Cash/Pay Order in favour of Central Railside Warehouse Company Ltd., New Delhi superscribing the name of work should reach the DGM (Engineering) , CRWC Ltd., New Delhi on or **before 15.06.2016 up to 15:00** hours and the same will be opened at 15:30 hours on the same day in the presence of contractors who may wish to be present at below mentioned address.

Other terms and conditions have already been mentioned in schedule of quantity which may be referred by the contractor while quoting the rate.

**Manager (Engineering)**



# सैन्ट्रल रेलसाइड वेअरहाउस कम्पनी लिमिटेड

(भारत सरकार का उद्यम)

आईएसओ 9001:2008 प्रमाणित कम्पनी

## CENTRAL RAILSIDE WAREHOUSE COMPANY LIMITED

(A Govt. of India Enterprise)

An ISO 9001:2008 Certified Company

सीआईएन : यू63023डीएल2007पीएलसी165676

CIN:U63023DL2007PLC165676



मिनी रत्न  
Mini Ratna PSU



### SCHEDULE OF QUANTITIES

**Name of work: Office block painting and maintenance works at RWC, Dankuni.**

S.No.	Description	Unit	Qty.	Rate	Amount ( in Rs.)
1.	Removing dry or oil bound distemper, water proofing cement paint and the like by scrapping, sand papering and preparing the surface smooth including necessary repairs to scratches etc. complete.	Sqm	684.260	4.25	2908.105
2.	Repairs to plaster of thickness 12 mm to 20 mm in patches of area 2.5 sq meters and under, including cutting the patch in proper shape, raking out joints and preparing and plastering the surface of the walls complete, including disposal of rubbish to the dumping ground within 50 metres lead: With cement mortar 1:4 (1 cement : 4 fine sand)	Sqm	139.3	114.35	15928.955
3.	Distemping with oil bound washable distemper of approved brand and manufacture to give an even shade:				
	Old work (one or more coats)	Sqm	370.26	14.9	5516.874
4.	Finishing walls with acrylic smooth exterior paint of required shade:				
	Old work (One or more coat applied @ 0.90 ltr/10Sqm).	Sqm	453.30	22.8	10335.240
5.	P/F on wall face unplasticised rigid PVC RW pipes conforming to IS:13592 Type A i/c jointing with seal ring conforming to IS:5382 leaving 10mm gap for thermal expansion				
	i). Single Socket pipes				
	a). 110 mm dia	Mtr.	20	163.4	3268.00

6.	P/F on wall face unplasticised PVC moulded fittings/accessories for un plasticised rigid PVC RW pipes conforming to IS:5382 leaving 10mm gap for thermal expansion				
	a). 110 mm bend	Each	10	134.2	1342.00
7.	Providing and fixing on wall face unplasticised - PVC moulded fittings/ accessories for unplasticised Rigid PVC rain water pipes conforming to IS : 13592 Type A, including jointing with seal ring conforming to IS : 5382, leaving 10 mm gap for thermal expansion.				
	110 mm Coupler	Each	8	101.65	813.20
8.	Structural steel work in single section fixed with or without connecting plate including cutting, hoisting, fixing in position & applying a priming coat of approved steel primer all complete.	Kg	40	42.15	1686.00
9.	Providing and fixing precoated galvanized iron profile sheets (size, shape and pitch of corrugation as 5% total coated thickness (TCT), Zinc coating 120gsm as per IS: 277 in approved by Engineer-in-charge) 0.05 mm. 240mpa mm steel grade, 5-7 microns epoxy primer on both side of the sheet and polyester top coat 15-18 microns. Sheet should have protective guard film of 25 microsns minimum to avoid scratches while transportation and should be supplied in single length upto 12 metre or as desired by Engineer-in-charge. The sheet shall be fixed using self drilling/self tapping screws of size (5.5x 55mm) with EPDM seal or with polymer coated J or l hooks, bolts and nuts 8mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead complete upto any pitch in horizontal/vertical or curved surfaces excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required.	Sqm	6	440.65	2643.90
	<b>TOTAL</b>				<b>Rs. 44,442.274</b>

**Manager (Engineering)**

**Estimated cost as per item No. 01 to 09 Rs. 44,442.274 (Rupees: Forty four thousand four hundred forty two and paisa two seventy four only)**

I/We hereby quote our rates as \_\_\_\_\_%

(\_\_\_\_\_Percent)

**above** the rates entered in the schedule of quantities

---

I/We hereby quote our rates as \_\_\_\_\_%

(\_\_\_\_\_Percent)

**below** the rates entered in the schedule of quantities

**Signature of the contractor with seal**

**Manager (Engg.)**

## **TERMS AND CONDITIONS**

1. Security Deposit will be deducted @10% of gross amount of each and every bill of the contractor which will be refunded after successful completion of defect liability period of 6 months. EMD deposited alongwith the quotation shall be adjusted against the security deposit.
2. Necessary taxes i.e., income tax, sale tax cess vat etc.(Except Service tax) will be deducted from the bill as per prevalent rate as on date.
3. Contractor will have to arrange all labour, T&P etc. required for the execution/completion of the work, at all vertical levels as per site condition. Safety of working labour's lies on contractor only.
4. Quantities given in the schedule may vary as per actual execution at site.
5. Work will have to be completed within 30 days from the date of issue of work order.
6. Work shall be executed strictly as per CPWD specification/Schedule.
7. CRWC reserves the right to accept or reject any or all the quotations without assigning any reason thereof.
8. The offer shall be valid for one month from the date of opening of quotation.
9. The rate should be excluding Service Tax.
10. If, the contractor, to whom work is awarded, fails to complete the work within stipulated period of 30 days then, Engineer in charge shall have discretion to impose to levy of compensation for delay to recover liquidated damages, if any, to the Company.
11. No advance payment shall be made at any time and payment shall be made only after execution of items/ work.
12. The party will sign each paper of Quotations in token of acceptance of their offer.

**CONTRACTOR**

**MANAGER (ENGG.)**